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Profil K-2, DN200, Rz.dna=114,20

%"_PII DN150 L=4,00 m, i=15,0%0, rz.dna=113,49

— = i= Y, =
/I_F:].Q DN130, L=9,00 m, i=15,0%0, rz.dna=113,59

/ 5iPE DN200 L=5,00 m, i=3,0%0, rz.dno=113,68

'P3 DNISO L=6,00 m, i=15,0%0, rzdna=113,80

%"_PI4 DN150 L=7,00 m, i=15,0%0, rz.dna=113,89

/ 51P5 DNIS0 L=7,00 m, i=15,0%0, rz.dna=113,97

'P6 DNISO L=4,00 m, I=15,0%0, rzdna=114,14

'P7 DNISO L=4,00 m, i=15,0%0, rzdna=114,28

WB DN150 L=4,00 m, i=15,0%0, rz.dna=114,34

/ 5iP9 DN130 L=4,00 m, I=15,0%0, rz.dna=114,46
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%“'_PIIO DN130 L=1,00 m, I=15,0%0, rz.dna=114,50

P11 DNI1S0 L=4,00 m, i=15,0%0, rz.dna=114,64




